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178 g & &g Ud dar W qed
ggel el foham am?

A. ShdTsT

B. I

C. ST#=ir

D. guav

Ans. B

Ans.

* France-The first country to implement
GST in 1954,

* Today 160 countries have GST/VAT.
* Most European countries introduced
GST back in the 1970s-80s,

* The US is the only major economy that
does not have GST. States enjoy high
autonomy in taxation.

* China implemented GST in 1994 while
Russia did it in 1991.

2981 1 gfdeyr gerfd gelr
H 9rit ST g

A. Hag ad

B. 3surehfeatfi qoiarcht a=

C. fRATe T udd

D. 3T featiiT aufas

Ans. A

Ans.

* Sundri is a small or medium-sized
evergreen tree which is found in the
inland zone of mangrove forests in India.
* The Botanical name of Sundri is
Heritiera littoralis Ait.

* In India, This tree is found in the inland
zone of mangrove forests along the coasts

of peninsular India, the Sundarban in West
Bengal state and the Andaman Islands it is
often planted in gardens.

3.8[@ole (catenation) T 0T H
gl B & |

A. Hoh

B. Aot
C. fRaferiaT
D. Free

Ans. D

Ans.

* In chemistry, catenation is the bonding
of atoms of the same element into a
series, called a chain.

* A chain or a ring shape may be open if
its ends are not bonded to each other, or
closed if they are bonded in a ring (a cyclic
compound).

* Catenation occurs most readily with
carbon, which forms covalent bonds with
other carbon atoms to form longer chains
and structures.

* This is the reason for the presence of the
vast number of organic compounds in
nature.

4.feTels & garfddhr & 3mAfad 38 df
STET (Gee Bee) HeFhaToll goildie &
RA & T vehaArT Taol gea et
Siar?

A. TdlT AR

B. #fdeY g fose

C. AlgHI<E gLaTHCe o
S Lol
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D. /g urar

Ans. B

Ans.

* The 38th GeeBee Boxing Tournament
was held at Helsinki, Finland.

* The lone gold medal for India was won
by Kavinder Singh Bisht.

* He won against Indian counterpart
Mohammed Hussamuddin in summit clash
in the 56kg category.

* Mohammed Hussamuddin settled for
silver.

5376 B3R 36 TRMEr
(34T) I 2018 H gerw
Y & o1 gieTalr, O & mafaa
gl arel TS WoT, 20227 T @
E FI 1 Hdem fHar §

A. edTe

B. HiJar

C. ohhe

D. afclialel

Ans. C

Ans.

* The Olympic Council of Asia (OCA) has
decided to reintroduce Cricket in the
2022 Asian Games to be held at
Hangzhou, China.

* Earlier Cricket had featured in 2010 and
2014 Asian Games but was dropped from
the 2018 Asian Games.

6.FT@T § ¥ fFg TUT W
ISR [STALT T QATHT UT?

A. TeaT

B. AT

C. SqIR

D. J[aTgreY

Ans. B

Ans.

* The Wadiyar dynasty is an Indian Hindu
dynasty that ruled the Kingdom of
Mysore from 1399 to 1947.

* The dynasty was established in 1399 by
Yaduraya Wodeyar. He ruled Mysore
under the Vijayanagara Empire until 1423.
* After Yaduraya Wodeyar, the Mysore
kingdom was succeeded by the Wadiyar
rulers. The kingdom remained fairly small
during this early period and was a part of
the Vijayanagara Empire.

7.afoey gfafa & RO F=feraa
H O fraw gefead g2

A. ITRITES =1 JuTlell JUR

B. SUST &7 FUR

C. AW FEIR FUR

D. =&+ faes

Ans. A

Ans.

* The Malimath committee gave 158
recommendations but these were not
implemented by the successive

govt. Recommendations of the committee
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a) It is the duty of state to protect the
fundamental rights of all citizen.

b) The Committee recommended for the
review and re-enactment of the IPC,
CrPC (Criminal Procedure Code) and
Evidence Act and these laws should take a
holistic view in respect to punishment,
assestability and bailability.

8.1564  FITel VA3 F w5 §T G
el T §a1d Flel o SR 5l
Tl FT Heg & T2

A. TAT 3aedeTS

B. T gafach

C. =T TaTerT

D. Il Afgearas

Ans. B

Ans.

* TreAt gaacl $T 1564 H G FHean T
Y& o T #peret & e osd ge
A & TS|

* AT gl 1550 ¥ 1564 deh alisarelm
T T AF it Y| 3AFRT ol
TG ST HRA [T & IRAX A g3
AT| 3AHT STeH FlfelolX & Tohed H
§3-1T UqT|

o.fFuse e Aefaf@a & 9 g
FT Th FATGAT g7

A. To-sg¢eT

B. Ua-U¢

C. TA-gFdT

D. TeT-9dsT

Ans. A

Ans. A

Ans.

* Butane or C4H10 has two
structural isomers called normal
butane and isobutane, or i-butane.

* According to [IUPAC nomenclature,
these isomers are called butane and 2-
methylpropane.

* Isomers are molecules that have the
same molecular formula but different
chemical structures.

* In the case of butane, its two isomers
will have these structural formulas.

10.8RISSH 2TeT §aRT CTeT 3R US
e &yt (feeen) & Tuger e
a¥y & &y 71$?

A. 1913

B. 1919

C.1911
D. 1907

Ans. D

Ans.

* TISCO was born in 1907.

*In 1907, TATA Team finally chooses
Sakchi village in present-day Jharkhand,
which has since grown into the steel town
of Jamshedpur.

11.3hEAAEe gefaeia gfde acsarss
FiEe 3 AT ad2019° &
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AR, ARG & @ hleT-ar M
AR & ciiel Fa8 TFd 080 A &
T el 82

A. =5 feoell

B. Hes

C. SITe®

D. deeTs

Ans. B

Ans.

* According to economist intelligence unit
report 2019 in most cheap cities india

has three cities which are Bengluru,
delhi and Chennai.

* Bengaluru, Chennai, and New Delhi
ranked among the world’s ten cheapest
cities in a ranking released by EIU.

* Amongst the most expensive cities in the
world, Singapore and Hong Kong topped
the rankings, along with Paris, followed by
Zurich and Geneva.

12.19 AT A 4 378, 2019 A& AT
g‘é HRA-S3I 12T HATead areel
(E3583r PUC) & GEHRUT &
3cHes GIc soldY, 3SHT AharR
cdia gHg # fohar |

A. 33

B. 23

C.45
D. 42

Ans. A
ADnS.

* The 33rd edition of India-Indonesia
coordinated patrol (IND-INDO
CORPAT) was inaugurated at Port Blair,
Andaman & Nicobar Islands.

* The IND-INDO CORPAT 2019 is held
from 19 Mar to 04 Apr 2019.

* Navies of both countries have been
carrying out coordinated patrolling twice a
year since 2002 in an effort to keep the
Indian Ocean region (IOR) safe and secure
for commercial shipping and international
trade.

1393 JTeAT3T T HaT & T
arelr T feATae veur &
T HT Th &9 ¢ |

A. IMIRT

B. TH

C. are

D. FTeT

Ans. B

Ans.

* The Cham Dance is a vibrant masked
and costumed ritual with roots in
Buddhism.

* The ritual is performed for the greater
good of humanity, destruction of bad
spirits and for moral instruction to viewers.

14.3<IdH ~ARTAT & Ugol AT
FT ATH Fd8T, S &eltd TadT
HRT H Od¢ H AGITAIANT & g&da
qer forar aram ar|
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A. SITECH THAATAT
B. SIcH HglolA

C. JT¥cH dREarAT
D. SI¥eH eaT T

Ans. A

Ans.

* Veeraswami Ramaswami was a judge
of the Supreme Court of India and the first
judge against whom removal proceedings
were initiated in independent India.

* The removal motion was placed in the
Lok Sabha for debate and voting on 10
May 1993. Well known lawyer and

a Congress politician Kapil Sibal was his
defence lawyer.

* Of 401 members present in the Lok
Sabha that day, there were 196 votes for
impeachment and no votes against and 205
abstentions by ruling Congress and its
allies.

15./F1 & @ FlA-AT dcd Teh 39U
&2

A. feaT

B. fafarspla

C. BIFBRRA

D. foeqy

Ans. B

Ans.

* A metalloid is a chemical element that
exhibits some properties of metals and
some of non metals.

* Boron, silicon, germanium, arsenic,
antimony, tellurium, and polonium are
metalloids.

* Metalloids tend to be semiconductors
and silicon is the best known example of a
semiconductor.

* Most microchips and microprocessors
are made with silicon.

16.1a I *I 3THT o aEAT H
sk qh T T ST &2

A. FIesT SS3FASS

B. 3iTFdieteT

C. ATSerslel

D. gT8alolel

Ans. A

Ans.

* Dry Ice is the common name for solid
carbon dioxide (CO2).

* It gets this name because it does not melt
into a liquid when heated; instead, it
changes directly into a gas (This process is
known as sublimation).

17.1026 s&aT # 9f¥ey ATy Al
W A 3R oeure fHaa &

A. HeFAe IR

B. HEHG Tslell

C. TaIsT W@el

D. &TeX 28

Ans. B
ADnS.
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*In 1025 AD, Somnath Temple was
destroyed and plundered by the Afghan
ruler, Mahmud of Ghazni.

* The temple was dedicated to Lord Shiva,
was rebuilt by the Paramara king Bhoja of
Malwa and the Solanki king Bhimdev | of
Anhilwara between1026 and 1042 AD.

18951 # ggelr Afgem gferd
HAgrfacers i A

A. foRToT s

B. 31erefY arer

C. ger &er

D. ael TleRY

Ans. C

Ans.

* Puducherry will have its first woman
Director General of Police (DGP) with S
Sundari Nanda being appointed to the
top post in 2019.

* Sundari Nanda, a 1988 batch police
officer belonging to the AGMU cadre has
been transferred from National Capital
Territory of Delhi (NCTD) and posted as
Director General of Police (DGP) of Union
Territory of Puducherry.

* Kiran Bedi, the first woman IPS officer
of the country, is the Lt Governor of the
Union Territory.

19.fF=faf@a & @ f5g uerd
3nf3er i SEAIRTS T H Teldd
forar & W@T B2

Ans. A

Ans.

* The Iron ore deposits are found

in Badampahar mines of Odisha and
Kudremukh deposits of Karnataka.

* In Badampahar high grade hematite ores
are found.

20. hHgH F TS ¢ |
A. {5 deq

B. ST Vel

C.olr 951

D. AT il

Ans. D

Ans.

* Facebook, Inc. is an American online
social media and social networking service
company based in California.

* It was founded by Mark Zuckerberg.

* It acquired Instagram, WhatsApp,
Oculus, and GrokStyle and independently
developed Facebook Messenger, Facebook
Watch, and Facebook Portal.

21.1876 H Shotehdl H carT
Sf3ae Aol TAITATRrT ST FATTAT
T Iy oY
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A. 9. & Rgeex
B. 3Tsig HIgsT a1
C. AR AR @y
D. SE¥edlel aassit

Ans. B

Ans.

* Indian National Association was the first
declared Nationalist Organization founded
in British India by Surendranath
Banerjee and Anand Mohan Bose
in1876.

* It was originally established as Bharat
Sabha and held its first annual conference
in Calcutta.

* It merged in INC in 1885.

22.9e F[cd &Y ‘UIST & HGY fhd
T5T T &2

A. 3T geer

B. Rafewa

C. fgATaer ueer

D. gRarom

Ans. C

Ans.

* Thoda is a sports dance belongs to
Sikkim.

* Thoda, a game of archery where the
target is a dancing human, is played
between two teams called pasha and saatha
who identify themselves as descendants of
Pandavas and Kauravas.

* Himachal Pradesh Chief Minister
Virbhadra Singh recently announced the

state's traditional Thoda dance would be
included in the rural games.

23.7T AT AT sTaT T
e sArear ¥ |

A.agﬂgar

B. FgTeICT

C. P

D. o

Ans. D

Ans.

* Major tributaries of kaveri are -Bhima
River, Tungabhadra River, Koyna River,
Musi River, Malaprabha River, Kundali
River, Ghataprabha River, Yerla River and
Warna River

* Krishna River originates in the Western
Ghats and conjoins the sea in the Bay of
Bengal at Hamasaledevi in Andhra
Pradesh.

* It flows through the states of
Maharashtra, Karnataka and Andhra
Pradesh.

24 S ATFAAA HI i @
& fow ST 7 Fider EPR ured
g

A. gelargle

B. Gieiieed

C. g

D, 7

Ans. A
ADnS.
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*J.J. Thomson, An English physicist
who helped revolutionize the knowledge
of atomic structure by his discovery of the
electron (1897).

* He received the Nobel Prize for Physics
in 1906 and was knighted in 1908.

257, 2019 H FgT aRex & fAee
% dic T & AT FEIHA & §T A
e gy &

A TT 3 FAREATAT

B. 312M& gl
C. IgERT T
D. 9Hlg drad

Ans. D

Ans.

* Pramod Pandurang Sawant is an
Indian politician who is the 13th and
current Chief Minister of Goa.

* Sawant represents the Sanquelim
constituency in the Goa Legislative
Assembly and is a member of the
Bharatiya Janata Party. He is a Ayurveda
practitioner by profession.

2638 HHTIY HT T S0 G
TEIT 34T g 399 & Tefd ¢
gATag # o # gefea §
(3,24, 4)

A. (2, 30, 8)

B. (12, 84, 4)

C. (6, 35, 11)

D. (4, 72, 9)

Ans. D

Ans.

3x4=12%x2=24

Similarly,

4x9=36x%x2=72

Hence, (d) is the correct response

275 QU 31T FHIROT I T&r Flat
& fow et ar Regl & 39w A
el ST TIfgye
12-8+12x9+3=9

A. -3+

B.+ 3R+

C. + 3R x

D. + 3R -

Ans. B

Ans.

According to the question,

If we interchange the + and + sign the
above equation become correct.

12 -8+ 12 x 9 + 3 (applying BODMAS)
=>12-2x3+3

=>12-6+3

=>15-6

=>0

Hence, the correct option is (b)

28.T efha feam I & fowd |
T Ue oo g QU v faehoui & &
ag Fel fasheu Ay, ST 3egsha
T H
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3,7,16, 35,7, 153
A. 74
B. 78
C.63
D. 84

Ans. A

Ans.

The series will be,
3X2=6,6+1=7
7x2=14,14+2 =16

16x2 =32, 32+3 =35

35x2 =70, 70+4 =74

74x2 = 148, 148+5 = 153
Hence, (a) is the correct option.

29.U% & 9 &I & PeT afaar +r
GeIaT 137 § | Ife T&AT 6 gl heteh
W § ar 3T B W Hia-AdY g&aT
grafr?
iy T
) G
A.3
B.4
C.2
D.5

Ans. C

Ans.

Moving in clockwise direction
Cube1-156

Cube2-132

Clearly, 6 is opposite to 2.
Hence, the correct option is (C)

10

30.75F g&R Hf&geFar &1
Y T F § 38T YhR AT Hl
e q e

A. TGRS

B. §aX

C. o

D. 3=

Ans. A

Ans.

Advocate helps in provide justice.
Similarly, mediator helps in agreement.
Option (a) is correct.

31T g &y feu v § 3R 38*
arg fasay, 1, 11 3R 111 e 91w § | e
P T AT U, g I§ FHAA:
A T2t ¥ @ vl @

g1, 3TgeRT a1 Ao et § T fou
AT HYAT T Flel-aT AShY ThaITd
T U fSererar &

hYoT

g emae Al g

3o A FgIl TEC ¢ |

ey

| F ATHHR Hgl TEJV ¢ |

Il. & #gIM aequ 7f &

11 gl 7N aequ Jf &

A. et sy | 3R 1 fasera €

B. g1t fasay 11 3R 111 faerera €|
C. hdel oISy || faeherar &
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D. %hael oSy | iererar ¥|

Ans. C
Ans.

expensive
items

machnines

Conclusion:

I. Some rulers are expensive items.- (false)
as there is no relation between them.

I1. Some expensive items are machines. -
(true) it is given that some machines are
expensive items which also means that
some expensive items are machines.

[11. All expensive items are machines. -
(false) it is a possibility case.

Hence, option (c) is correct.

3. AFATTET ereel & T difehed Ta
HIQUT A H Fafeyd R |
1) @ea

2) HroteT

3) IR

4) afsarat

REIGI

A.1,4,53,2

B.4,5,3,1,2

C.3,54,1,2

D.3,4,1,5,2

Ans. D

11

Ans.

The logical order of the above words is-
3. Market

4. Vegetables

1. Buying

5. Cook

2. Food

Hence, option (d) [3, 4, 1, 5, 2] is the
correct order.

33.1875 T A, B IR C & 30 9
enfaa fpu v § TR AT

feeaT B IR C & wgFd feeq 1 3mem
¢ INBH REATANRCH Tgad
T &1 t-dtus §|CH RETAF
e & fohdar 31f¥e g2
A." 200
B. " 250
C. 225
D. 500
Ans. B
Ans.
2A =B+C (adding A on both sides)
2A+A=A+EB+C
3A=A+B+C
3A = 1875
A =625

4B = A + C (adding B on both sides)
4B +B = A+ B+ C

5B = 1875

B =375

C = 1875 - (625 +375 )
C = 1875 - 1000
C =875

C-A=875-625=250
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Hence, the correct response is option (b)

34 fAFAAET IR eIt & @ i
&V Rl R thaAT g 3R
U T&IT JTA ¢ |39 AT
&I HT TIT HIfAT |

A. 254
B. 217
C. 126
D. 189

Ans. A

Ans.

63+ 1=216+1=217

53 +1=125+1=126

B +1=729+1=730

254 doesnt follow the above pattern.
Therefore, option (a) is different.

35.3" 378X HAIST &l I hITolT
o s & o1$ 31aR Awer & Raa
BT W HAGER WA § & T8
A@er o7 & S|

b _bab bc _abbb ba b

A. cbabc

B. bchab

C. cbbcb

D. cbbac

Ans. C

Ans.

The sequence is - bcbabb

The complete series is as follows-
bcbabb/bcbabb/bcbabb.

The correct option is (c)

12

36.8Y IS AT & g IS HEY
Fr gAY arel d 3IRG T I
HITAT |

1T, RedeR, g«

Ans. A

Ans.

Some relatives are uncle but all the uncles
are relative.

Some of the relatives as well as uncle are
rich.

So the diagram that shows the best
relationship between them is-

(-l

Option (a) is the correct answer.

37.fAmfafEd ar-3eR GHgt # 4
it 3e-Heg fohdll YR & Th
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AT g 3R T IATAT & | 3HA
HE-HHE T T AT |

A. CFIL

B. GHIJ

C. PSUX

D. MOQS

Ans. C
Ans.

+3
c—2 —2

+
G+1H+1|1J

p—t3_ g 42 ., 4
+2 + +2

We can see that PSUX is different from
others.
Hence, the odd option is (c)

38.Ueh SISl I AT T 3R A=
2T T 3TER FIeT AT §| 38

el 9 I8 Far R@rs gam?
R £ | 4
£ =T ‘N 4

A.

B.

C.

13

D.

Ans. B

Ans.

The paper is unfolded in 2 steps.
Step-1

Step- 2

Hence, the correct option is (b)

39.3f¢ & &1 1S 3Mpid & qW 3R
SUUT T@T ST aF dee) arel T@r guur
gfafss &1 a3 ffST|

D. -

Ans. B

Ans.

In a plane mirror, a mirror image is a
reflected duplication of an object that
appears almost identical, but it is reversed
in the direction perpendicular to the mirror
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surface. As an optical effect it results from
reflection of substances such as a mirror or
water.

Hence, the correct answer is option (b

4038 FHTIT HT YqA HIGC forasd
&0 38T RE 399 & Ja1ad &
S veR &g S few s
eI H 39 H &R § |

(9, 35, 16)

A. (36, 55, 25)

B. (25, 30, 4)

C. (81, 65, 36)

D. (16, 50, 64)

Ans. A

Ans.

The relation between the given number set
is- the middle number is obtained from the
[(difference of first and third number) x 5]
16 - 9 =7 x 5 =35 ( middle number)
Similarly, 36 - 25 = 11 x 5 =55 (middle
number)

Hence, the correct option is (a)

41.37T6 TFdAT & U IRAR H, ar
I §, A= FoTeT & grar g

g 1B3R DS § 3R 3 A=t & arar
g g |E, AST Tt §, A, CHI TRT
$S §|C, HFr 98 & H, G T=RT
$S §|F, B&T Icait & | H fFe

YR F & Gaferd g2

A. FAST
B. gTATG
C. |rell

D. g7

Here, circle represents Female, and square
represents Male.

From the question, we can’t determine the
gender of H. So, from the options the most
appropriate answer is option (A).

425 & 18 3l & foheer gt &2

A. 13
B. 14
C.12
D. 16

Ans. B
ADnS.

14
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] % I P N
Nt
NVLEL

| m n_©

The numbers of squares in this figure are -
adol, chmi, abef, bcfg, efij, fgjk, acik,
iklm, khmo, pgno, krsp, rhpg, spmn, cdkh.
Total squares are 14.

Hence, (b) is the correct response.

43.F%T g s

#, VICTORY &I CIVSYRO for@r Sirdr
¢ |34 g HT & TRAITOR &l &
for@r seem?

A. ARTHROT

B. RATHORT

C. RTAJORT
D. ARTJOTR

Ans. A

Ans.

VICTORY coded as CIVSYRO

The pattern of code language is first three
letters and last three letters are written in
reverse order and the remaining middle
letter is replaced by its preceding letter.
Therefore, the code of TRAITOR will be
ARTHROT

Option (a) is correct response.

4438 AFeT FT TTT F¢ TorTqadT &
S 3rHfa IafARd )

\| rd

15

Ans. B

Ans.

On observing the options we can see that
the figure given under option (b) is indeed
embedded in the original figure. It has
been represented below,

Option (b) is the correct response.

45 farfafad 3npfa sraem & 3T
arell 39Tl 3T &l T HIfST |

| | | 2
it

B
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#-
HE

D.

Ans. A

Ans.

In the above series, the first figure has one
horizontal line intersecting 2 vertical lines
and the next figure showing its mirror
image.

In the 3rd figure, there is two horizontal
lines intersecting 3 vertical lines.

So, according to the above sequence, the
next figure is-

iia

Hence, option (a) is correct.

46.1CT 1T Aol A @ 37 Usq LIA
HT TIT HfAT fFT@F gt UAsg
IHE A 3 geR F@afd § 5
YR A fo T e IIA & Asq;
3moE F wErd g

qEdh @ FATARIR

A TIHT : 3R

B. Bl : oThs)

C.w : &id

D.an:a?r

Ans. A
Ans. As, Encyclopedia is a type of book.
Similarly, Python is a type of reptile.

16

47380 GEAT GIA & ThT HISAT
Sgd aar &It 39y #/ 3 gHR
a9 R el I&gv
few arv wear g A & o #
qefed g

36:84::7:7
A.57:135
B. 27 :63
C.21:51
D.45:95

Ans. B

Ans.

36 =3x12

84=7x12

Similarly,

27=3x9

63=7x9

Hence, option (b) is the correct answer

4839 Td&hed T I HITSIT ST
IR 31eR-Tegg ¥ 3T YR Fefad
¢ o0 TR @ eR-aeg g
I Wog  Hafd ¢

CEGI : AGEK : : DFHJ :?
A. CHFI
B. CGIK
C. BDJK
D. BHFL

Ans. D
ADnS.
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Similarly,
D F H

-2‘ +2| -2| +zl
B H F L

Hence, option (d) is correct.

499G DIGHI 25 & H
INCUTH 49% & A FHeeeer forar
ST § AT KICK &1 frg &9 &
shescy fanar e’

A. 43

B. 34

C.41
D. 39

Ans. D

Ans.

The pattern of the above code language
is the sum of place value of all the
alphabets of the given word + 5.
DIG=4+9+7=20+5=25
CUT=3+21+20=44+5=149
Similarly,
KICK=11+9+3+11=34+5=39
Hence, the correct response is option (d)

50.fFATIf@d IR 2real & & el
e Tohdl Yeh T Tk FA § 3R
Ueh 2AsG AT g | JTATT UG Hl
TYeT HITAT |

17

A. HITHoIT
B. Giw
C. 3T
D. T&r

Ans. A

Ans.

Except peanut, all the three are the types
of ingredients used in making vegetables.
Hence, the odd word is option (a)

512x3+2HR3x2+(4+4x4+45T4
—4+4x4)F AA g

A.8

B.2

C.1

D.4

Ans. B

Ans,
2x3+20f3 x2 {44+ 4 x
4 =~ 4of

4-4 + 4 x 4)

=2X3+6X2+(4+4x4+-16—1x4)

3 4
=2xgx2+(4+4x———4)

16
=2+ (4+1—-4)
—2+1

=2

52.AABC &, AB 3T AC =3t T
AT NG FIRESH R ¢ T FE ||

BC T FE T3] &l FHATT &1Fhel dTol
ar e & R{anfaa
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8 | Tfe AD L BC 3R AD, foig G W FE
Pl Pledl g ATGD: AG=2?
(W2 +1):1
A.
(2 -1]:1
B.

c 2421
D. V2:1

Ans. B
Ans,

B D <

Since, EF||BC
AF AG AE

FB GD EC
AF  AG AE

—_ — = — = —
AB AD AC

Also, AABC~AAFE

Area(AABC) AD?

Area(AAFE) AG?
AD? 2 x Area(AAFE)

AG2  Area(AAFE)

53.U ¢ fhdl AfRaa aifa & 384
km T gl aF T g | afe arfd 16
km/h et foham Sirar § ar 38 gt

18

da &G 7 ar e 3w o6 | g
It (km/h ) FT 75% ThdeT &2

A. 54

B. 42

C. 45

D. 48

Ans. D

Ans. D

Ans.

Let the truck at speed v km/h takes t hrs
and at speed (v-16) km/h it takes (t+2) hrs.
Then,

334(1 1) (v — 16)
t t+2) "V

384 (H E_E) 16
t(t+2)/
2

24 X =0
t(t+2)

t?+2t—-48=0
(t+8)(t—6)=0

t==6
384
Original speed ~ & 6% min
75% of original
75
speed 100~ 8 \in

54.d1forer # Affied YR T &RT &
3cATeaT I (BRI ) G2ITT T ¢ |

ad/ %1% | 2012 | 2013 | 2014 | 2015 | 2016
A 30 |35 |48 |45 |56
B 42 |48 |40 |38 |56
C 48 |36 |38 |35 |44
D 51 |24 |30 |46 |54
E 20 |42 |40 |35 |43
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ay¥ 2013 3iX 2016 H A YR &I HRI &
%ol 3cdTcel sl Jefel H a¥ 2012,
2014, 31X 2015 H B YR &I HRI FHl
el IcUIET ST fohcda gfaerd
iR TgT 82

A.344

B. 33.2

C.31.9
D. 36.3

Ans. C

Ans.

Production of B type car in 2012, 2014
and 2015

together = 42 + 40 + 38 = 120 ynoysa
nd

Production of A type car in 2013 and 2016
=35+ 56 =91 thoysand

Required
120-91
%= 91 X 100 = 31.86 ~ 31.9%

55.9R¢ A& T 3ad 42 § | 3fae
qrg GEATAT H AT 40 § 3R gdgeir
IR TEIT3T T 3T 44§ | TS
TET, 9rad) §EAT A6 A ¢ 3R
Aiddr T&IT §5FA g |5dr AR 7dF
TEIATHT T 3rad FT grem?7

A. 44

B.44.5

C. 43
D. 435

Ans. B
ADnS.

19

Sum of twelve
number = 12 X 42 = 504

Sum of last five

Sum of first four

Sum of 5", 6" and 7" numbers
— 504 — (200 + 176)
=504—-376
=128

Let 5™, 6™ and 7" numbers are (x+6), x
and (x+5). Then,
x+6+x+x+5=128

3x =128—-11

117

X= T = 39

Average of 5" and 7" number
x+6+x+5

2
39 +39+11
B 2

% _ s
- =44

56.d1foreT & Afficd YR T HRT &
3cATeaT Hl (BRI ) 2T =T § |

a4/ &M | 2012 | 2013|2014 | 2015|2016
A 30 35 48 45 56
B 42 48 40 38 56
C 48 36 38 35 44
D 51 24 30 46 54
E 20 427 40 35 43

IfE EYhR & $RI & 3cdied o
G 37ihsT A IS-AIC & EaRT
ZATIT STar § 2013 &/ &RE &



https://xu75j.app.goo.gl/3ufve

3cUTeed @l gAY aTet 31Tehs ol
Bea@s (AFe) HT H1T HIUT I
A. 102°

B. 84°

C. 70°

D. 80°

Ans. B
Ans.
Total production of E type cars

throughout the given
years = 20+ 42 +40+ 35 +43

= 180 thousand
Required angle

2 % 360°
180

=42 x2°
=84°

2+tan* 6+ cott g
57 Secé cosecé

TR ¢
A. secB cosec 0

B.cot 9

C.tan 9

D.cos0sin

Ans. A

ADnS.
2 +tan® @ + cot? @

secH cosec A
1+tan®@ + 1 +cot?é

secHcosec
sec’ @ + cosec?#

secH cosect
= secH sind + cosecH cos b

20

sind cos@

" cos@ sing
sin® @ + cos?@

sinfcos#@
1

~ sindcosé@
= sec H cosec 8

58. AR a¥ qd A 3R B &I Y I
T 4: 5 47| 3 & 316 aY

¢ A 3R B &1 g T 3770Tel 11 :
13 19T | 3o Sl T AT 3 T
el TIT FAT g2

A.76aY

B.72aY

C.80ay

D. 96 a¥

Ans. C
Ans.
Let the ages of A and B four years ago

were 4x and 5x
¥+ 448 11

5x+4+8 13

55x — 52x =156 — 132

3x =24

x =28

Sum of the present ages of A and B
=4x +4+5x+ 4

=9x +8

=72+8

=80

50.gf¢ 4 -25sin20-5c0s0=0,0°<0 <
90°¢, aYsin 0 + tan O ST AT ¢ :
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LJ
iy

_ 3
B. 3\2
32
C. 2
243
Ans. A
Ans.

4 — 2sin’8 — ScosB=10
4—2(1—cos?8)—5cos8 =0
2c0s?6—5c0s8 +2=10
2c0s’8 —4cosf —cos8 +2=0
(2cos8 — 1)(cos8 —2)=0
v—1=<cosd <1

= cosf = 2

1
= C0s8 = E: cos60®

= 8 = 60°
/3 3
= sin@ +tan @ =%—I— [3 =

3l

W

N ‘

60.af¢ At 37 SHr

TE&AT 985x367y, TEAT 72 ¥ fao=y
g, dl (4x — 3y) &T AT T :

A. 4

B.6

C.5
D.3

Ans. A
ADnS.

Since the given number is divisible by 72,

it must be divisible by 4, 8 and 9. Since, it
is divisible by 4, last two digit must be

21

divisible by 4. So, possible values of y are
0, 4, 8. Since it is divisible by 8, last three
digits must be divisible by 8. As 780 and
788 are not divisible by 8, the only
possible value of y is 4. Now, since the
number is divisible by 9, its sum of digits
will be divisible by 9.
9+8+5+x+3+6+7+8+y
=46+x+Yy

=46+ x +4

=50+ x

For x =4, 54 is divisible by 9.

4x —3y=4x4—-3x4=4

61T x+y+2=19, x> +y? + 22 =

133 3R xz = y%§, Al z iR x & T IR
g

A.3

B.4

C.6

D.5

Ans. D
ADnS.

(x+yv+2)=x*+y>+z7+ 2(xy+yz + zx)

192 = 133 + 2(xy + yz + y?)
2vix+y+z)=361—-133

2y x 19 = 228

228
Y=738 =
Now,

x+z=19—y
x+z=19—-6=13
x—z=(x+2)2—4xz

= /132 — 4y?2
=+/169 — 4 x 36
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=169 — 144
=5

62.7RE cAfF o UH TEG I 15% T
gIfel oY 97| 3R 98 33

30.60 31f8h OX SIAT A 38 9% T
JdE BIT | 10% oITeT 9T &hlel o
fore, 38 38 a&q & s & Swa
BURYEIY

A. " 128.40

B. " 130

C.  140.25
D. 132

Ans. C

Ans.

Let the CP = Rs. 100, then SP = Rs. 85
SP for 9% profit = Rs. 109

Difference in SP =109 -85 =24

When difference = Rs. 24, then CP = Rs.

100

when difference = Rs. 30.6, then CP

=100 x 22 =2% _ 1275
24 24

To get 10% profit,

110

sp= 127.5 x Too = Rs.140.25

63315 Y T AfRaa ufaera sare
eT qT 3ast & 8,028 31X 6 auf
12,042 81 ST &, ST sTTST AT
gaifara g | ufer g7

A." 5,352

B." 5,235

C. 5,253

22

D. 5,325

Ans. A
ADnS.

12042 = P (1 +ﬁ)

8028 = P (1 +ﬁ)

.
2 _ p2 .
(8028) = P (1 + mn)
Dividing (i) by (i), we get
8028 x 8028

12042
= 5352

3

64.arforepr & Affied YR T HRT &
3cATeaT I (BRI &) 2T =T ¢ |

a4/ @ | 2012|2013 | 2014|2015

2016

30 35 48 45 56

42 48 40 38 56

48 36 38 35 44

o0 |m (=

51 24 30 46 54

E 20 42 40 35 43

ay 2014 7 A 3R 2013 7 C 9 &I
HRT & Fol Scleal AT

ay 2016 # B 3iX 2015 H E YR &I
HRT & Fel 3cUIGeT T AT T §?
A.11:12

B.12:11

C.10:11
D.12:13

Ans. D
AnS.
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total production of C type cars in year
2013 & Alinyear 2014 =36 + 48 =84
thousand

total production of B in year 2016 & E
type cars in 2015 =56 + 35 =91
Required ratio = 84:91 = 12:13

65.13824 cm*3{Idsl dTel Ueh OIF el
P AT AT aTel S Gl |
hIeT STl § | Hel Tl & YT &athel
T el B el & ST &R &
el TIT N AT g9

A.2:3

B.2:1

C.4:3
D.8:3

Ans. C

Ans.

Edge of the original

cube = (1382-’-})§ = 24
Surface area of the original cube
=6(24)?

=6x576

= 3456

Volume of one smaller cube
edge of one smaller

cube = (1728) = 12

Total surface area of three smaller cubes
=3x6x(12)?

=18 % 144

= 2592

Required ratio = 3456:2592 = 4:3

23

66.Tf¢ x* + x4 =194, x> 0%, dr (x—
2)%ehT HTT FIT g

A.6

B.2

C.1

D.3

Ans. D
ADnS.
¥+ x* = 194

1
4 i
X+ =194

1
IE+I—2=\,’194+2= 14

x+;=d14+2=4
X*—4x+1=0

4+.16—4
x=+=2in’§
(x—2)2=3
p? 1

Siné ——,
67.af PP+1" % Srcoso R &

2P
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Ans. B
Ans.
6 P* -1
sinfd = Pz 11
cos?6 =1 —sin® @
(P? ~1)°
cos?f=1———
(P?2 +1)2
29 _ 1 P*—2P*+1
cos“8=1-—
P*+2P2+1
2 4p-?
C08° 0 = ——
(P2 +1)2
g 2P
cosf = Pz 11
68.afe

(5-f5x% — 8143y 3| = (5x - 3By

=|(Ax® +By*+Cxy|
¥ ¥ %,T—ﬁ

(6A+B--f15C]|
' T AT FIT gIM?

A 12
B.15
C.10
D.9

Ans. A
AnNs.

(5v5x3 — 81y3y3)
(VBx — 3v3y)
(VBx — 3y3y)(5x% + 315xy + 27y?)
V5x — 3.3y
5x2 +3vV15xy + 27y? = Ax2 + By +

A=5B=27,C=3J15
6A+B—V15C=30+27 —45=12

= Ax?+ By*+ Cx

24

69.A, B HIX C T Z&TAT3 T AT 2:
5:3%| T AT HH el W d diar
3027 oA A 9 X Hhd
¢ |B 3R C, et ey 39 & A

4
% 9§ REY & frdw et o g
HLN?
A. 15 feat A

171
B. /fRaAr#
C.27fear &
D. 24 &t &

Ans. A
ADnS.
Ratio of efficiencies, A:B:C = 2:5:3
(A+B+C):(B+C)=10:8=5:4
MyxD; M,xD,

w, W
5x27 4xD,

1 4

9
5x27 X 4
2 4x9

70.AABC H «B 3R 2C &
HHCTIHATSTH (bisectors) T & 3eT
fSg o w fAera €| 3fe «BOC =
122°%, AT A T AT F4T g

A. 62°
B. 64°
C.72°
D. 68°

Ans. B
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Ans.

B c
£BOC = 122°

1
£BOC =90° + E/_A

1
122° —90° = ELA

£A=2X%X32°=64°

71.f%E eyt ABC & et vk gd
§ATIT AT & | 98 AB,

BC 31X AC JST3it sl sheerl: R,

P 3R Q Toig3it o T9ey st
¥|afd AQ =4.5cm, PC =5.5 cm 3R BR
=6cmg, dr f38[eT ABC &1 9RA ¢
A.32cm

B. 28 cm

C.30.5cm
D.26.5cm

Ans. A
ADnS.

AQ=AR=45cm,PC=CQ=5.5cm,
BR=BP=6¢cm.

Perimeter

=AB + BC+ AC

=AR +BR+ BP+PC + AQ + QC

25

=454+6+6+55+55+45
=32 cm

72.0 %g dle Teh gd 1 e 10

cm &, PQ 4T PR Ucd&h 12 cm &1 Sfiare
€| PO, QR SitaT & feig S W e

g OS fr Jes FAT &2

A.3.2cm

B.2.8cm

C.3cm
D.25cm

Ans. B
ADnS.

CIR
P
Let OS = x, then
OR?* —05% = PR? — pS?
102 —x%2 =122 — (10 — x)?
100 —x2 = 144 — 100 — x2 + 20x
20x = 56
x=28cm

73.dferer # faffiee 9aR & &R &
3c9TeaT Pl (FSTRT ) 2T =T ¢ |

2012 | 2013|2014 | 2015 | 2016
30 |35 |48 |45 |56
42 |48 |40 |38 |56
48 |36 |38 |35 |44
51 |24 |30 |46 |54
El20 |42 |40 |35 |43
ast 1 I&gT, [99H B YR I SRI
HT 3culesT, T3 aut ﬁ'gU,DsﬁmT $r

BT L= o =
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FRT & ATT 3cureT ¥ &7 §, F=
g

A.2

B.3

C.1
D.4

Ans. A
Ans.
Average production of D type cars during

the years 2012 to 2016
51+ 24+ 30+ 46 + 54

5

205

5
In 2014 and 2015 production of B type

cars are less than the average.

743 120 Y x% FF FIr ST G G@r
gROMH YT 819 it 40 T X% SGlel
W GTeT I & | e 210 T x%,

180 % (x + 20)% & fohcer gfaerd &#
gIam?

26

4x 5
100
x =50

20
X% of 910 = 210 X 755 = 105

70
(x +20)% of 180 = 180 x Too = 126

Required
_ 126-105

percentage 126

% 100 = 16§%

75.fd aFq & 3R HeT W HAS
al P, IAF xY% & & 9IE TS G
259.20 8 | Ife a&q o1 3ifhd Hed
720, AT X T AT FT gam?

A. 25
B.24
C.18
D. 20

Ans. D
AnS,

Two successive discount equivalents to
+ _x2
=—X—X
2iLlIZZI"IIZII

2x 4+ —
=TT 00

Total rate of discount

259.20 100
B <V X250
= 36%

Now,
x2

S+ — 36
* 7100

x? —200x + 3600=0

x? —180x — 20x + 3600 =0
(x —180)(x—20) =0

x = 200r 180
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= x = 20% Ans. A
Ans. The sentence is an example of first

76. conditional sentences. Such sentences are

|l|[Common||| Select the most appropriate used to show what action one will take in a

word to fill in the blank. |||End||| particular situation. Like in the given

His company hasthe __ of producing sentence, the second clause shows the

the best cricket balls in the country. action of the traffic police when someone

A. opinion parks a car at some location. In such

B. reputation sentences, we use simple present tense

C. brand with the 'if' clause and simple future tense

D. position with the main clause. See the structure
below:

Ans. B if + present simple, ... will + infinitive

Ans. The sentence implies that it is

believed that his company produces the Example: If | have money, | will help the

best cricket balls in the country. needy.

Reputation means ‘the beliefs or opinions Therefore, option A is the correct answer.

that are generally held about someone or

something’. It is the correct filler for the 78.

blank. Hence, option B is the right answer. |l|[Common||| In the following passage,
some words have been deleted. Fill in the

Other words do not produce a logical blanks with the help of the alternatives

meaning in the sentence. given. Select the most appropriate option
for each blank.

17.

|l|[Common||| Select the most appropriate Seoul’s city government is asking people

option to substitute the underlined segment for help to correct poorly translated Street

in the given sentence. If no substitution is signs - with prizes on offer for

required, select No improvement. |||End||| (###QL###) who spot the most

If you park your car here, the traffic errors. It’s running (HHHQ24#H#HH)

police has fined you two-week campaign calling on Koreans

A. will fine you and foreigners (#HQ3###) to

B. fine you keep their eyes peeled for

C. No improvement (##H#QA###) in English, Japanese

D. fined you and Chinese text, the Korea Times reports.

There’s a (HH#QSH###) focus on

27
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public transport signs, maps and
information signs at historic sites, as part
of a drive to improve the experience of
foreign tourists in the South Korean
capital. |||End]||

Select the most appropriate option for the
blank.

A. that

B. this

C. these

D. those

Ans. D

Ans. The blank needs a word which refers
to the people who spot most

errors. ‘Those’ used in singling out
someone or something and ascribing a
distinctive feature to them is the perfect fit
for the blank. Hence, option D is the
correct answer.

79.

Select the most appropriate option for the
blank.

A. the

B.a

C.an

D. one

Ans. B

Ans. A determiner is required to fill in the
blank. An indefinite article ‘a’ is required
because it precedes a word that begins
with a consonant sound.

Hence, option B is the correct answer.
Please do not get confused in thinking that

28

the word "two-week" makes the noun
"campaign" plural. Two-week is acting as
an adjective here and it is only showing
duration. It is not making the noun
"campaign” plural.

80.Select the most appropriate option for
the blank.

A. same

B. alike

C. likely

D. similarly

Ans. B

Ans. The blank needs an adverb, not an
adjective. Therefore, the use of "same"
would be incorrect as it is an adjective.
Likely is out of context as the sentence is
talking about some probability. Between
"alike" and "similarly", 'alike" is the correct
choice. It means (of two or more people or
things) similar to each other.

Hence, option B is the correct answer.

81.Select the most appropriate option for
the blank.

A. guffaws

B. oversight

C. mistakes

D. blunder

Ans. C
Ans. The meanings of the words are as

follows:

Guffaws: a loud and hearty laugh.
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Oversight: an unintentional failure to
notice or do something.

Mistakes: something, especially a word,
figure, or fact, which is not correct; an
inaccuracy.

Blunder: a stupid or careless mistake.
Therefore, ‘mistakes’ is the apt word to fill
in the blank. "Blunder' would be a too
strong word to be used in the given
context. Hence, option C is the correct
answer.

82.Select the most appropriate option for
the blank.

A. meticulous

B. signifying

C. important

D. particular

Ans. D

Ans. The sentence implies that there is

a special focus on public transport signs,
maps and information signs at historic
sites, as part of a drive to improve the
experience of foreign tourists in the South
Korean capital. ‘Particular’ meaning
‘especially great or intense’ is the apt word
for the blank. Hence, option D is the
correct answer. Other words do not
produce the required meaning to the
sentence.

83.

|||[Common||| Select the antonym of the
given word. |||End]||

SCARCE

29

A. scanty
B. seldom
C. plentiful
D. few

Ans. C

Ans. The meanings of the words are:
Scarce: (especially of food, money, or
some other resource) insufficient for the
demand.

Scanty: small or insufficient in quantity or
amount.

Seldom: not often; rarely.

Plentiful: existing in or yielding great
quantities; abundant.

Few: a small number of.

Therefore, 'plentiful’ is the antonym of the
given word.

84.

|||[Common||| Given below are four jumbled
sentences. Select the option that gives their
correct order. |||[End]||

A) An environmental group performed a
necropsy on the animal and found about 40
kilograms of plastic, Including grocery
bags and rice sacks.

B) A 4 .7-metre long whale died on
Saturday jn Philippines where it was
stranded a day earlier.

C) “It’s very disgusting and
heartbreaking:” he said. “We’ve done
necropsies on 61 dolphins and whales in
the last 10 years and this is one of the

biggest amounts of plastic we’ve seen:”
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D) “The animal died from starvation and
was unable to eat because of the trash
filling its stomach;’ said Darrell Blatchley,
Director of D’ Bone Collector Museum Inc
A. DABC

B. BADC

C.BACD

D. ABCD

Ans. B

Ans. Sentence B would be the first
sentence of the passage as it introduces the
subject i.e. ‘a 4.7 metre long whale’.
Sentence A would be the next in the
sequence as it presents some astonishing
fact about the dead whale. DC would be
the mandatory pair because the pronoun
‘he’ in sentence C represents Darrell
Blatchley who is the director of D’ Bone
Collector Museum Inc. mentioned in
sentence D. Therefore, option B is the
correct answer.

85.

|l|[Common||| Select the most appropriate
word to fill in the blank. |||End|||
Around sixty bands jn colourful
took part in the Notting Hill Carnival.
A. clothings

B. dressing

C. apparels

D. costumes

Ans. D
Ans. The blank requires a word which
means a set of clothes particular to a group

30

of people.

The word "dressing™ means a sauce for
salads. It does not fit in the sentence.

The word "clothings™ is incorrect. Clothing
represents a set of clothes and it cannot be
written in plural form.

Apparels is also incorrect as it is also used
in its singular form usually.

‘Costumes’ meaning ‘a set of clothes
worn by an actor or performer for a
particular role’ is the apt word for the
blank. Hence, option D is the correct
answer.

86.

|l|[Common||| Select the word which means
the same as the group of words given.
[[IEnd]

A person, animal or plant much below the
usual height

A. creature

B. wizard

C. dwarf

D. witch

Ans. C
Ans. The meanings of the words are:

Creature: an animal, as distinct from a
human being.

Wizard: (in legends and fairy tales) a man
who has magical powers.
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Dwarf: a person who is of unusually or
abnormally small stature because of a
medical condition; a person affected by
dwarfism.

Witch: a woman thought to have magic
powers, especially evil ones, popularly
depicted as wearing a black cloak and
pointed hat and flying on a broomstick.
Hence, option C is the correct answer.

87.

|||[Common||| Given below are four jumbled
sentences. Select the option that gives their
correct order. |||[End]||

A) The cafe’s owner says he’s interested in
conservation, and hopes customers will
realize the animals are worth saving, even
though they often have a bad reputation.
B) None of them are venomous, meaning
customers can get up close and personal
with the reptiles.

C) Here you sip your drink in the company
of 35 snakes.

D) This cafe, which has just opened in
Tokyo, is not for the faint-hearted.

A. DCBA

B. ABCD

C. DBCA

D. ABDC

Ans. A

Ans. Sentence D is the introductory
sentence as it mentions the subject of the
passage i.e. ‘a café which has just opened
in Tokyo’. Sentence C should be the
second sentence as it provides a distinctive
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feature of the café. Sentence B aptly
follows the sentence C as ‘them’ in the
sentence denotes the ‘snakes’ present in
the sentence C. Sentence A is the
concluding sentence. Hence, option A is
the correct answer.

88.

|l|[Common||| Select the word which means
the same as the group of words given.
[[IEnd]l|

A student who idly or without excuse
absents himself/hersef from school

A. migrant

B. itinerant

C. truant

D. vagrant

Ans. C
Ans. The meanings of the words are:

Migrant: a person who moves from one
place to another, especially in order to find
work or better living conditions.

Itinerant: travelling from place to place.
Truant: a pupil who stays away from
school without leave or explanation.
Vagrant: a person without a settled home
or regular work who wanders from place
to place and lives by begging.

Hence, option C is the correct answer.

89.
|l|[Common||| Select the most appropriate
option to substitute the underlined segment
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in the given sentence. If no substitution is
required, select No improvement. |||Endl||
The workers of this textile factory demand
higher wages for a long time.

A. have been demanding higher wages

B. demanded higher wages

C. has demanded higher wages

D. No improvement

Ans. A

Ans. The phrase "for a long time" indicates
the duration of some activity which started
in past and still continues. We use
present/past perfect continuous to
represent such actions. Out of the given
alternatives, only option A represents the
correct tense. Therefore, it is the correct
answer.

90.

||[Common||| Select the correct passive
form of the given sentence. |||[End|||

Do not buy medicines without the doctor’s
prescription.

A. Medicines need not be bought without
the doctor’s prescription

B. Medicines should not be bought without
the doctor’s prescription.

C. Medicines could not be bought without
the doctor’s prescription

D. Medicines might not be bought without

the doctor’s prescription

Ans. B
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Ans. The following rules should be
considered while changing active form to
passive voice:

* The places of subject and object will be
interchanged in the sentence.

* Only 3rd form of the verb or will be used
as a main verb in the Passive Voice.
Therefore, option B correctly provides the
passive form of the given sentence.

91.

|l|ICommon||| Select the correct active form
of the given sentence. |||End|||

Every passing vehicle was being
thoroughly checked by the guards.

A. The guards were thoroughly checking
every passing vehicle.

B. Every passing vehicle were thoroughly
checking the guards.

C. The guards have been thoroughly
checking every passing vehicle.

D. The guards have thoroughly checked
every passing vehicle.

Ans. A

Ans.

Basic rules to be followed for
Active/Passive conversions are:

1. The object of the active verb becomes
the subject of the passive verb.

2. The finite form of the verb is changed
(to be+ past participle).

3. The subject of the active sentence
becomes the object of the passive sentence
(or is dropped).

4. Preposition "by" is used before object.
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The given sentence is in passive voice. The
structures for active/passive voices are:
Active: Subject + was/were + verb (ing) +
object...

Passive: Object + was/were + being + verb
(1rd from) + by + subject...

So, with the help of the above structures,
we can convert the given sentence into
active voice:

The guards were thoroughly checking
every passing vehicle.

92.

|||[Common||| Select the synonym of the
given word. |||End]||

COERCE

A. pressurize

B. leave

C. enchant

D. cajole

Ans. A

Ans. The meanings of the words are as
follows:

Coerce: persuade (an unwilling person) to
do something by using force or threats.
Pressurize: attempt to persuade or coerce
(someone) into doing something.

Leave: go away from.

Enchant: fill (someone) with great delight;
charm.

Cajole: persuade (someone) to do
something by sustained coaxing or flattery.
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Hence, 'pressurize’ is the synonym of the
given word.

93.

|l[ICommonl|| In the sentence identify the
segment which contains the grammatical
error. |||End|||

We had to decline several orders jn case
that the production was held up due to
labour strike.

A. due to labour strike

B. the production was held up

C. in case that

D. We had to decline

Ans. C

Ans. The error is due to the fragment ‘in
case that’. It is a preposition and used in
sentences like please do not use lift in case
of fire. In the given sentence, it is a
connecting a fragment which gives reason
why the speaker had to decline the orders.
It should be replaced by the conjunction
"because” to provide correct meaning to
the sentence.

94.

|l|[Common||| In the sentence identify the

segment which contains the grammatical
error. |||End|||

Cyclone Idai killed at least 157 people in
Zimbabwe and Mozambique although it
tore across Southern Africa.

A. at least 157 people

B. it tore across

C. although
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D. Cyclone Idai killed

Ans. C

Ans. The use of conjunction ‘although’ is
incorrect in the sentence. Although means
in spite of the fact that. Example: The
coach ordered them to keep running
although they were completely tired. This
conjunction is not providing correct
meaning to the sentence. It should be
replaced by ‘as’ giving reasons to form a
contextually correct sentence.

Hence, option C is the correct answer.

95.

|||[Common||| Select the antonym of the
given word. |||End]||

EXPANSION

A. augmentation

B. compression

C. inflation

D. extension

Ans. B

Ans. The meanings of the words are:
Expansion: the action of becoming larger
or more extensive.

Augmentation: the action or process of
making or becoming greater in size or
amount.

Compression: the reduction in volume.
Inflation: the action of inflating something
or the condition of being inflated.
Extension: a part that is added to
something to enlarge or prolong it.
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Hence, 'compression’ is the antonym of the
given word.

96.

|l|[Common||| Select the most appropriate
meaning of the given idiom. |||End|||

At daggers drawn

A. without hope

B. bitterly hostile

C. friendly with each other

D. deceiving somebody

Ans. B

Ans. The idiom ‘at daggers drawn’ means
‘(of two people) be bitterly hostile towards
each other’. For example: they have

been at daggers drawn for weeks over
tactics. Hence, option B is the correct
answer.

97.Select the wrongly spelt word.
A. Explode

B. Expire

C. Exploite

D. Explicit

Ans. C

Ans. Option C has the incorrectly spelt
word. The correct spelling is ‘exploit” and
it means ‘make full use of and derive

benefit from (a resource)’.

98.Select the wrongly spelt word.
A. Career

B. Carriage

C. Calander
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D. Callous

Ans. C

Ans. Option C has the wrongly spelt word.
The correct spelling is ‘calendar’ which
means a chart or series of pages showing
the days, weeks, and months of a particular
year, or giving particular seasonal
information.

99.

|l|[Common||| Select the synonym of the
given word. |||End]||

CHRONIC

A. persistent

B. temporary

C. common

D. ordinary

Ans. A

Ans. The meanings of the words are as
follows:

Chronic: (of an illness) persisting for a
long time or constantly recurring.
Persistent: continuing to exist or occur
over a prolonged period.
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Temporary: lasting for only a limited
period of time; not permanent.

Common: occurring, found, or done often;
prevalent.

Ordinary: with no special or distinctive
features; normal.

Hence, persistent is the synonym of the
given word.

100.

|l|[Common||| Select the most appropriate
meaning of the given idiom. |||End|||

To play ducks and drakes

A. to change places

B. to use recklessly

C. to be friendly

D. to act cleverly

Ans. B

Ans. The idiom ‘to play ducks and drakes’
means ‘to behave recklessly; to idly
squander one's wealth’. For example: She
played ducks and drakes with her
property. Hence, option B is the correct
answer.
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